tate the third congruence that must be given m‘pmve that
\ABC = ADEF using the indicated postulate or theorem.

1. ASA Congruence Postulate 2. AAS Congruence Theorern
s D
R -
£
A ‘ c
3. 5SS Congruence Postulate 4. SAS Congruence ?osmiate
| F £
A 3
Bm c D

t pessible to prove that the triangles are congruent? ¥f so, state
' postulate or theorem you would use, Explain your reasoning.

b W ) &. c A

X D YR

nplete the proof by suppiying the reasons,
Given: TA | SN, IR = NR

Prove: ALAR = ANSE Statements Reasons
) 1. ZA|| SN 1.7
- 8 IR=NR 3 9
4 /LRA = /NRS | & *

5. ALAR= ANSR | 5. 7

& a two-coiumn or a paragraph proof. A " 5
Given: AB || CD,AC{BD '

Prove: AABC = ADCE
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